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PEP ¢ 15044 #} )
TAKEEZ£EETEIR)EKERAREITE
% ¥ HO® BAfSL H 2 HELFE

B L=1)0.6+10.0+0.8=11.4
B 1=1)3.2+1.0+5.0+1.0=10.2

KEEKBRIIFLUE

EFZONES ¢ 150 X 5.0m X 5 N= 216 = 50= 4320

N=D1-;&1+0=0

EFV4 vk @150 X ¢ 150 &
B N=1D0+1=1

EFfZF—X ®150% ¢ 75 & 1 L= 1 X 0500= 0500
B N=1D0+1=1

EFFZF—X ¢ 150 % ¢ 100 & 1 L= 1 X 0.650= 0650
B N=D1+0=1

EFESAUR 45° ¢ 150 & 1 L= 1 X 0450= 0.450
B N=D1+4=5

EFFSAUR 45° ¢ 150 & 5 L= 5 x 0.610= 3.050
B N=D1+1=2

EFES SAUR @ 150 x 450H & 2 L= 2 x 1250= 2500
B N=D1+0=1

PEHE O HHMUTEE P dAe . EREDD

25 075K FR, GHXAER) @150 75 X L= 1 X 0930= 0930
B N=1D0+1=1

PEIEOfTY IR — LR ¢ 150:H=800 & 1 L= 1 X 1070= 1.070

LPavAIBEAEEEF) ¢ 250-H=150 #8 1

Loa Bl hRI{=E @ 250-H=710 A 1
B N=D1+1=2

AHFEPCOIA b

SUSHILb C ¢ 150%P ¢ 150 A 2




PEP ¢ 150%4 #4 HERE KE&BS
TAEEEFETETIREKEHREBIE
£ W BB B = HEAHE

TheARYR)—J @ 150 53038 2 PC.PP, PV, PP¥yy7’, & A%, BT
B L=D(14.5+15.9+1.6) ¥2=64.0

TIT4—54> A2 -W=75 m 64.0 it= 64
B 1=D14.5+15.9=30.4

wIT4—7—7 E AL -W=50 m 30.0 Ft= 304
B N=D3+5+6( T )+4(T)=18

KE R Y —h— JB K $k147.6KHZ X 18
B N=D0o+1=1

FEETE G150 Bs—= SRy mEREE | B 1




PEP ¢ 150 T% HERE KEHE
THKEEEDETEIR)RKEREIETLS
s ™ R O® B % = HEXFE

N=D1

EXT (1) BE4-150-1200 L 1 +4.3m3-A2.22m-As:t=3cm- ]6m
L=MD1.7

EXT (2 #-150P-1200 m 1.7 +0.86m3-W0.77mAs:t=3cm- £]2m
L=MD12.8

XTI (3) #-150P-800(1200) m 12.8 10.78m3-W0.75m - As:t=3cm- t]2m
L=MD14.8

BT (4) B-150P-800(1200) m 14.8 £0.69m3-W0.74m - As:t=16cm- £]2m
L=M1.1

EXT (5 B-150P-1200 m 1.1 £0.77m3-W0.76m - As:t=16cm- ]2m
N=D1

E+T (6) B%B-150-1200 (513 1 +4.1m3-A2.22m-As:t=16cm- §]6m
L=1.0

EXT () #%-50P-700 m 1.0 £0.37m3-W0.5m-As:t=3cm- §]2m
L=MD15.0

T+ (8) BESREME $-150D-1200 m 15.0 11.1m3-W0.97m-As:t=3cm-t]2m
L=175.2+61.5

EXT (9) BESR & B-150D-1200 m 136.7 10.97m3-W0.95m-As:t=16cm- §]2m




PEP ¢ 150 % HERE KEEES
THKEEEDETEIR)RKEREIETLS
£ BRO% B % = HEXFE
LT (1) :As:3cm v= 10 x 430 = 4.300
ETXT (2) :As:3cm v= 1.7 x 086 = 1.462
BEXT (3) :As:3cm v= 128 x 078 = 0984
EFLXTI (4) :As:16cm V= 148 x 0.69 = 10212
EFLXTIT (5) :As:16cm v= 1.1 x 077 = 0.847
EFLXT (6) :As:16cm v= 1.0 x 410 = 4.100
EEXT () :As:3cm v= 10 x 037 = 0.370
ELXI (8) :As:3cm v= 150 x 1.10 = 16.500
ELXT (9) :As:16cm V=136.7 x 0.97 = 132,599
A= 25km BHO.2-DT4t m® 180.0 it = 180.374
EMERT EMET PEP ¢ 150 m 30.8 30.750
EMER T RFEELT PEP ¢ 150 m
N=1D6+12
ERFT EF#¢F 10 150 | EFr 18
EWMFL AN=HILF ¢ 150 a 2 PC-PCF & (FREEMA) - 11
EMFL AHP#F $150 0 2 PP, M¥ey7 . MF-R
HFHET BT 2 PC. PP, PV, PP¥yy7’
MHET/ ¢ 150~ 18- K 0120mm- £&1.0m S 4 PP%vy7" 14/{8.PC-PV-PP 2&/{&
N=(D2+2
HMBhE T/ tElE 2%+ K O60mm- £ &1.0m X 4 MRS 24 /&
N=1D2
B ET /VPILH 1% 3% - 3K 060mm- £ X05m X 2 VPILARE 24/EFT
EVE Lk D) $250-H=710 (E05%) | EERT 1




PEP ¢ 150 T% HERE KEHE
THKEEEDETEIR)RKEREIETLS
s ™ BRO% B % = HEXFE

HLI (1) :As:3cm L= 1.0 x 6.00 = 6.00
HLTI (2) :As:3cm L= 1.7 x 2.000 = 340
HLTI (3) :As:3cm L= 12.8 x 200 = 25.60
HLI (7) :As:3cm L= 1.0 x 200 = 200
LTI (8) :As:3cm L= 15.0 x 2.00 = 30.00

AsriE Y] t=15cmIA T m 67.0 i = 67.00
FLXTI (4) :As:16cm L= 1438 2.00 = 29.60
EFLXTIT (5) :As:16cm L= 1.1 2.00 = 220
EFLXTIT (6) :As:16cm L= 10 6.00 = 6.00
FLXTIT (9) :As:16cm L=136.7 2.00 = 273.40

AsESHIE LI t=15cm%E 2 %.30cmEL T m 310.0 it = 311.20
As=3cm v= 670 x 1.02 + 1000 = 0.06834
As=16cm v=311.2 x 544 + 1000 = 1.69293

Ak SR m® 1.80 i = 1.76127
LT (1) :As:3cm A= 10 x 222 = 2220
ETXT (2) :As:3cm A= 1.7 x 077 = 1.309
LT (3) :As:3cm A= 128 x 075 = 9.600
ELT (7) :As:3cm A= 10 x 050 = 0.500
ELXTI (8) :As:3cm A= 150 x 097 = 14.550

EXIR={R{EIH As

S pD E FE YR HIFE A t=0cmiB % 10cm L T-BHO.2 m? 28.0 it = 28.179




PEP ¢ 150 HERS Y SER=EE]
TAREEEBETEIR)RKEMREIE
% F B O%® Bf M= HERE

BELXT (4) :As:16cm A= 148 0.74 = 10.952
BELXT (5 :As:16cm A= 11 0.76 = 0.836
BELXT (6) :As:16cm A= 10 2.22 = 2220
BELXT (9) :As:16cm A=136.7 0.95 = 129.865

EXIR={R{EIH As

ShE MR RE AR A t=150m#BX 40cm LU FBHO.35 m? 1440 o= 143.873
BEEXIT (1) :As:3cm v= 1.0 222 x 0.03 = 0.067
BELTI (2) :As:3cm v= 17 0.77 x 0.03 = 0.039
BEETI (3) :As:3cm V=128 0.75 x 0.03 = 0.288
BELXIT (7) :As:3cm v= 1.0 0.50 x 0.03 = 0.015
BELTTI (8) :As:3cm v=15.0 0.97 x 0.03 = 0.437

ErIR={REIR

AsEEM LR L= 4.7 km As7%. BHO.2, DT4t m?e 0.8 7 = 0.846
BELXT (4) :As:16cm V= 148 0.74 x 0.16 = 1.752
BELXT (5 :As:16cm v=" 11 0.76 x 0.16 = 0.134
BELXT (6) :As:16cm v=10 222 x 016 = 0.355
BELXT (9) :As:16cm V=136.7 095 x 0.16 = 20.778

ErIR={R{EIR

AsBEH ALIE:L= 4.7 km As3%. BH0.35, DT10t m° 23.0 o= 23.019
BELXIT (1) :As:3cm A= 10 222 = 2220
BELTI (2) :As:3cm A= 17 0.77 = 1.309
BELTTI (3) :As:3cm A= 128 0.75 = 9.600
BELTI (8) :As:3cm A= 150 0.97 = 14.550

RIEIR:$ESHE As=3cm, B&#&10cm, AN m? 28.0 7 = 27.679




PEP ¢ 150 T% HERE KEHE
THKEEEDETEIR)RKEREIETLS
s ™ BRO% B % = HEXFE
FLXTIT (4) :As:16cm A= 148 x 0.74 = 10.952
FLXTIT (5) :As:16cm A= 1.1 x 0.76 = 0.836
EFLXT (6) :As:16cm A= 1.7 x 222 = 3.707
FLXTIT (9) :As:16cm A=136.7 x 0.95 = 129.865
R0 EE G BE As=5cm. B&#21cm, A1 m? 145.0 i = 145.360
L=115.0+10.0
L=D12.9(F)+62.3(F)+61.5(T)=136.7
BB EREI L34 km DIP ¢ 150 m 161.7
L=15.9
BREBEMET L= 34 km DIP ¢ 100 m 5.9
L=MD14.5
L=169.7(T)+60.4(T)=130.1
BEER IR E AT L= 1.4 Km PEP ¢ 75 m 144.6
N=D0+H1=1
R
CoBE# ML= 4.7 Km Cos%. AJ1. DT2t m° 0.2 V=1£x%0.17=0.17
AR L=1D0.5
REFRHE T ER W15cm-i&ZRE= m 0.5
N=D1
BHFETE ¢ 150 HEE-MER T | & 1
N=D1
BEKF+EXE T :H800 DV ¢ 50 = 1
N=D1
HEKFERE T :H1200
THEK~ DV ¢ 50 3% H 1




T2 T (BE$-150-1200) JKEE&BH

(1)

IR (TILZSER. BEFRImm) SEHEHE

HEH

H£RBEH 1 A [1B/&m

HEHIZR (m) 165 m [HEAIZFE2.0mLLT

#EEI& (m) 167 m [N=(D18&Fr

PERITE (m) 133 m

DBEXRIRE (m) 175 m [HEAHER+HRANZES02m i KIRFK2.0m
it THEF ({8l (m) 60 m |L=( 167m + 133m) *2
KR MK (L=2.0m) 19 #% | N= 60m + 0333m = 18018 = 19
AmBSREC LIEFAASK 2 X [BEEILIE

KEHHR—F 2 K

KERLT 1 &

L=1.67 m

1.33 m

W




T8 T (BXB-150-1200) /KE&IEH

(1)

IR (TILZSER. BEFRImm) SEHEHE

HEH

H£RBEH 1 A [1B/&m

HEHIZR (m) 165 m |[HEAIZFE2.0mLLT

#EEI& (m) 167 m [N=(D18Fr

PERITE (m) 133 m

DBEXRIRE (m) 175 m [HEAHER+HRANZES02m i KIRFK2.0m
it THEF ({8l (m) 60 m |L=( 167m + 133m) *2
KR MK (L=2.0m) 19 #% | N= 60m + 0333m = 18018 = 19
AmBSREC LIEFAASK 2 X [BEEILIE

KEHHR—F 2 K

KERLT 1 &

L=1.67m

W=133m




PEP ¢ 150%4 % HERE T/K&EHES
TARKEEEEETFEIR)RKEREELS
s ™ B OB B % = HEXFE
L=(10.8+0.7+15.0+0.8

B +3.0+10.0+0.8+1.5+30.0=62.6
B 1=(10.8+2.5+50.0+0.8+2.0=56.1

KEEKAR)IFLUE

EFROFMEE 150 X 5.0m %N 24 N= 1187 =+ 50= 23.740
B N=D1+0=1

EFV4 vk $ 150 X ¢ 150 1@ 1
B N=D3+2=5

EFMIZ SAUK ¢ 150 X 300H 1& 5 L= 5 x 0.880= 4400
B N=D1+0=1

EFMIZ SAUK ¢ 150 X 600H 1& 1 L= 1 x 1305= 1305
B N=1D2+1=3

EFAZ SAUK ¢ 150 X 300H 1& 3 L= 3 x 1040= 3120
B N=D0+1=1

EFAZ SAUK ¢ 150 X 600H 1& 1 L= 1 X 1465= 1465
B N=[D1+0=1

PEFEOfM YIS —ILiEEIF ¢ 150: H=800 1@ 1 L= 1 x 1070 = 1.070

LOoavAARFEEH IR ¢ 250-H=150 #H 1

Loa SR f= ¢ 250-H=710 #H 1
B 1=(1)(69.7+60.4) ¥2F%=260.2

TITA—54> A 215 -W=75 m 260.0 Et= 260.2
B 1=(169.7+60.4=130.1

IT4—T—7 E BG4 -W=50 m 130.0 Et= 130.1

KETELE
KERHR T —h— iRk 147.6KHZ PN




PEP ¢ 150 HERE TKEHES
TARKEEEHETFEIR)RKEREELS
% W B O® By % = HEAF
L=1D52.8+41.5
E+T (3) #5-150P-800 m 94.3 10.48m3-W0.5m-As:t=3cm- ]2m
L=116.9+18.9
EXT (4) £-150P-800 m 35.8 £0.42m3-W0.5m - Co:t=15cm- ] 2m
ELXIT (3) :As:3cm V= 943 x 048 = 45.264
ETLXI 4 :Co:15cm v= 358 x 0.42 = 15.036
AR L= 2.5 km BHO0.2-DT4t m° 60.0 it = 60.300
BT EMAET PEP ¢ 150 m 130.1 130.060
EMRT RREEL PEP ¢ 150 m
N=(123+18=41
EWMFT EFf#F 10 o150 | EFT 41
EWMFT EFf#F 20 o150 | EFT 1
Ly avs B =R $250-H=710 (4E¥05) | AR 1
ELXIT (3) :As:3cm L= 943 x 200 = 188.60
AsEhZE Ui t=15cm AT m 190.0 it o= 188.60
BT (4) :Co:15cm L= 358 x 200 = 71.60
CofhXtnin t=15cmAF m 72.0 it o= 71.60
As=3cm V=188.6 x 1.02 + 1000 = 0.19237
Co=15cm V= 71.6 x 10.90 + 1000 = 0.78044
EKALIE SR m® 0.97 = 0.97281
ELXIT (3) :As:3cm A= 943 x 050 = 47.150
ErTITHR={REIH As
SHEE PR E BERHITE A t=0cm#ZZ 10cm 2L T:BH0.2 m2 470 5 = 47.150
LT (3) :As:3cm v= 943 x 050 x 003 = 1.415
ErxTIrR={R1EIA
AsEEM L= 4.7 km As#%. BHO.2, DT4t m® 1.0 i = 1.415




PEP ¢ 150 % HERE TKEHES
TKEEZEEFEIR)EKEAREISE
% W WRO% B # = HEASE
&1TT (4) Co:15cm A= 358 x 0.50 = 17.900
EXITH={REIR Co
S iy B B 1 T SA t=10em#% 150m L1 F:BHO.2 m> 18.0 H o= 17.900
E+T (4) :Co:15¢cm V= 358 x 050 x 0.15 = 2685
EXTITH={REIR
ColE#HLIE:L= 4.7 Km Co#%. BH0.2. DT4t m? 3.0 it = 2.685
&+ T (3) :As:3cm A= 943 x 050 = 47.150
R8RS EHE As=3cm, B&#210cm. A7 m? 47.0 Hl 47.150
&+ T (4) :As:5cm A= 358 x 0.50 = 17.900
R1EIR: T AAAsEHEE As=5cm, B&#&20cm. A S m2 18.0 7 = 17.900
KETEHE
e REEEETL L= 34 km DIP ¢ 150 m
KETEHE
BEER B IS E#E T L= 1.4 Km PEP ¢ 75 m
N=Dt4+;K0=4
BREE M=
CoFEMALIE:L= 47 Km Con%. AJ1.DT2t m? 0.7 V=4££x0.17=0.68
hR#REf 1=169.0
XEHRET 24 Wi5scm-iZ@t= m 69.0
S E L1=02.4
XEHRERET 177 W45cm - iaat = m 2.4




PEP ¢ 100#4 %3 BERE KEEHES
FTAKEEL£EETFEIR)REKEAREISE
% ¥ WRO% B L O HEAE

B L=M1.0

KERKARJIFLUE

EFZOFES ® 100 X 5.0m VN 1 N= 10-=- 50= 0200
B N=(D1

EFV4 vk ®100% ¢ 100 & 1
B N=M1

EFES SRUK @ 100 X 450H & 1 L= 1 x 1125= 1125
B L=(D1.4%2E%+0.9=3.7

T ITA—FA> A2 -W=75 m 4 = 3.7
B L=12.3

w2 I)T4—T—7 ‘& AL -W=50 m 2 Et= 23




PEP ¢ 100T % HERE Y SER=EE]
THKEEEDETEIR)RKEREIETLS
s ™ BRO% B % = HEXFE
L=D1.4
ELXT (1) B-100P-800 m 14 £0.38m3-A0.5m2-As:t=16cm-]2m
L=MD1.9
ELXT (2 K-100P-800(1200) m 19 +0.79m3:A0.76m2- As:t=5cm- ] 2m
FLXTI (1) :As:16cm v= 14 x 0.38 = 0.532
LT (2) :As:5cm v= 1.9 x 079 = 1.501
BT = 25km BHO0.2:DT4t m® 2.0 it = 2.033
EMRT EMET PEP ¢ 100 m 2.1 2.125
EMR T RFEELT PEP ¢ 100 m
EMFL EFf#F 10 o100 | &P 2
ERFT EFf#EF 20 o100 | EEFr 1
FHET 1@ 1
FWMBESET ¢ 250-H=1110 1@ 1
LTI (2) :As:5cm L= 1.9 x 2.000 = 380
AsEHEE MR t=15ecmIA T m 4.0 it = 3.80
FLXTIT (1) :As:16cm L= 14 x 200 = 280
AsEHIEY R t=15cm&#BZ 30cmLL T m 30 T = 2.80
As=5cm v= 38 x 170 + 1000 = 0.00646
As=16cm v= 28 x 544 + 1000 = 0.01523
KN SHE U m® 0.02 i = 0.02169
FTLT (2) :As:5cm A= 19 x 0.76 = 1.444
ErXIR={R{EIR As
S R E R RITEA t=0cmi % 10cm L1 F:BHO.2 m?2 1.0 - 1 444
FLXTI (1) :As:16cm A= 14 x 050 = 0.700
EXIR={R{EIH As
%< hiR B R I TR A t=150m#B % 40cm LU T BHO.35 m? 07 ETR 0.700




PEP ¢ 100 HEFE KEEHES
TAKEE£BEETFEEIR)EKEAZEISE
% W b3 B M E HEALE
E+T (2) :As:5cm v= 19 0.76 x 0.05 = 0.072
EXIR={REIH
AsBEH ALIE:L= 4.7 km As3%. BHO.2, DT4t m° 0.1 it = 0.072
BT (1) :As:16cm v= 14 050 x 0.16 = 0.112
EXIR={REIH
AsFEAM IR L= 4.7 km Asz% . BH0.35. DT10t m?® 0.1 5 = 0.112
E+T (2) :As:5cm A= 19 0.76 = 1.444
{18 18- E KR As=3cm. B#22cm. AF m?2 1.0 H o= 1.444
BT (1) :As:16cm A= 14 0.50 = 0.700
R8I0 EEHEBE As=5cm. B#21cm. AF m? 0.7 H o= 0.700
L=12.3
B EREEHETIL=34km DIP ¢ 75 m 2.3




PEP ¢ 75%4 4 HERE y SER=Eizbs)
TARKESZXREEFEIR)EKEMZBIS
% B OB BAr HE HEXFE

B 1=3)1.0+2.4+20+2.8+3.6+1.0=30.8

KEFRKARIIFLUE

EFZOESE $75X%5.0m X 7 N= 308~ 50= 6.160
B N=3)1

EFV4 vk P15%x P75 1 1
B N=3)1

EFF—X ®75% ¢ 75 &l 1 L= 1 x 0112= 0112
B N=32

EFF—X @ 75X ¢ 50 &l 2 L= 2 x 0112= 0224
B N=3)1

EFfiiE SAXUKR(RETYH) ¢ 75 X 450H & 1 L= 1 x 1180= 1.180
B N=3)1

PEFEOY IS —ILIEGIR | ¢ 75:H=800 & 1 L= 1 x 0780= 0.780

LYoy AABFEEUTTH) ¢ 250-H=150 #H 1

Loa 8B H=E ¢ 250-H=710 #8 1
B N=3)1

AHHBEFPCTOIAb

SUSH ILk CoT15*P 75 #A 1

FAgRARYRY—T @75 B 1 PC. PP, PV, PP¥yy7’. &%
B 1=333.1

TITA—54Y f8i3A 24% -W=75 m 33 &= 33.1
B 1=333.1

TIT1—T—7 & RE A -W=50 m 33 &= 33.1
B N=Q3+@2(T)+B®9(T)=14
@ N=@8(TF)

KERHAN T —h— [E iR 8k 147.6KHZ X 22




PEPp 75T % MERE KEEHESS
THKEEEDETEIR)RKEREIETLS
£ RO® B = HERE
L=31.2
EXT (1) K-75P-1200 m 1.2 £0.78m3-W0.75m - As:t=5cm- £]2m
L=331.9
EXT (2 K-75P-800(1200) m 31.9 10.76m3-W0.75m - As:t=5cm- £]2m
LT (1) :As:5cm v= 12 x 078 = 0.936
ELXTI (2) :As:5cm v= 319 x 0.76 = 24.244
BT 1= 25km BHO.2-DT4t m® 25.0 it = 25.180
EMERT EMET PEP ¢ 75 m 33.1 33.096
EHMET RART PEP ¢ 75 m
ERFT EFftF 10 075 5L 7
ERFT EFf#tF 20 ¢75 (513 4 VTR
ERFT AN=HIBE ¢75 a 1 PC(#58%{81) C75+P75
EMFT AhP#F 675 a 1 PC. PP, PV, PP$+ty7’. PC-PP %
BT L 1 PC. PP, PV, PP¥ty7". B 3%
MEHEIL/d75~100 2% K A60mm- K &1.0m . 2 PP¥vy7" 14&/{A. PC-PV-PP 2K/{&
N=3)2
MITET/HEE 22! - X 060mm- £E1.0m A 2 TILARHE 24/18 BRERHEHH
N=3)2
MEET/VPILK 18 3% K [60mm- E&0.5m PN 2 IR 2AK/@
PV Lk ) $250-H=710 (t¥0%) | AR 1
LT (1) :As:5cm L= 1.2 x 200 = 240
LT (2) :As:5cm L= 319 x 200 = 63.80
AsTriz U t=15cmELF m 66.0 i = 66.20




PEP ¢ 75T % BERE KEEES
TAKEE£BEETFEEIR)EKEAZEISE
% W b3 i:-Eiva o= HEALE
As=5cm V= 66.2 x 1.70 + 1000 = 0.11254
A KALER EEl m?® 0.1 it = 0.11254
&+ T (1) :As:5cm A= 12 x 075 = 0.900
E+T (2) :As:5cm A= 319 x 0.75 = 23925
ErIR={REIR As
& 5 b T AR I A t=0cmiB % 10cm L F:BHO.2 m? 25.0 5 = 24.825
E+T (1) :As:5cm V=12 x 0.75 x 0.05 = 0.045
&+ T (2) :As:5cm v= 319 x 075 x 005 = 1.196
ErIR={REIR
AsFEA IR L= 4.7 km As3%. BHO.2, DT4t m?e 1.0 it = 1.241
E+T (1) :As:5cm A= 12 x 075 = 0.900
E+T (2) :As:5cm A= 319 x 0.75 = 23925
{18 18- B E KR As=3cm. B&H&22cm. AJ1 m? 25.0 H o= 24.825
L=®1.2
B ERERETIL=34km DIP ¢ 75 m 1.2
L=(327.6
L=@42.9(T)+87.8(TF)+®76.2(TF)=206.9
BEERBIEEMET L= 14 Km VP ¢ 75 m 2345
L=(34.3
BEERBIEEET L= 14 Km PEP ¢ 75 m 43
N=@t2+;H0+320=2
BEEE RS
CoE#M IR = 4.7 Km Cozk. A7, DT2t m?e 0.3 V=2£%0.17=0.34
N=)1
HEKFERE T : H800 DV ¢ 50 H 1




PEP ¢ 75%1 #4 HERAS TKEER
TKEEEME(PATREKERRETS

s ™ B OB Bifr HE HEXFE
L=@1.4+5.0+4.6+0.8+45.0+1.4+0.8
[ +0.6+10.0+0.8+5.0+3.9+1.0=80.3
L=@1.5+5.0+4.5+30.0
+5)0.5+1.0+3.3+10.0+1.5+15.0
B +3.0+0.8+30.0+2.6=108.7
KEFRKARIIFLUE
EFZOMEE @ 75X 5.0m X 38 N= 1890 + 50= 37.800
B N=@1
R N=@?2
B N=B1
EFV4vh b75%x p75 1 4
B N=B1
EFF—X p75%x p75 1& 1 L= 1 x 0112= 0.112
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o8 Bk EK K S A— YL AERN F— F— Ak YRV KR (Fae W) —PEPRAE . VP-DIPF /O a—h, PPERERS PP EFY4 v MR TSHFIE IELY20H5 BE&EZa(U R (VPY) 427 427 av 42" KERARVIFLUE
No.|#7kigES T BE AT FE S 552 4— Sl B KR ki kg BEHKT  BAEEmm x SIEOFEmm EFRRE 20/ & AEKARRT R DT IE EHELN, DVPRIEFEOHI 7yt HE BREEETS INEY BREEFTS ZRE $17E ®H
wmE X EE O AE Of Of BE CXRE —RA A e 50 75 100 150 200 P20 P25 P30 P40 P50 (mm) P20 P25 P30 P40 P50 | RIRIEAET AEEEET HE % OBEEST
(mm) (mm) (mm) &M BE EM &AM &M | 20 25 20 25 30 40 50 20 25 30 40 50 20 25 30 40 50 20 25 30 40 50 | P20 P25 P30 P40 P50 13 20 25 30 40 50 P20 P25 P30 P40 P50 | 20 25 30 40 50 | & | 13mm  20mm  25mm | ¢20  ¢25  $30 440

1| 0021421 WibkiE B3 PEP 150 KL 20 13 sk —  1B60 ik LB6O 1 4 1 1 20
2 | 0023695 Mutskie By PEP 150 HFJL 20 20 ik —  LB60 4rib  LB6O 1 4 1 1 20
3 | 0023667 Miskie By PEP 150 HFJL 20 20 ik —  LB60 4rik  LB6O 1 4 1 1 20
4| 0020408 FEiki® Bi¥E  PEP 150 HKJL 20 20 sk —  1B60 ik LB6O 1 4 1 1 20
5 | 0028769 Mutski By PEP 150 HFJL 20 20 ik — LB60 4k LB6O 1 4 1 1 20
6 | 0064053 Zibskie i  PEP 150 #FJ 20 20 4k —  LB60 LB6O 1 3 1 14
7 | 0000281 ubskie By PEP 50 HFJL 20 13 Huk —  LB60 4rik  LB6O 1 4 1 1 31
8 | 0062217 Zibskie i PEP 50 #FJ 20 20 4uk  —  LB60 LB6O 1 3 1 25
9 | 0000280 utskie By PEP 50 HFJL 20 20 ik — LB60 4rib  LB6O 1 4 1 1 23
10| 0054389 Zibskit ¥k PEP 75 SR 20 13 4k —  LB60 LB6O 1 2 1 14
11| 0066364 Zibskit ¥k PEP 75 HKJL 20 20 4k —  LB60 LB6O 1 3 1 14
12| 0000177 W.bkie B3 PEP 75 HKJL 20 20 sk —  1B60 ik LB6O 1 4 1 1 37
13| 0000284 Witk B3 PEP 75 HRJL 20 13 sk —  1B60 ik LB6O 1 4 1 1 20
14| 0068977 Zibskit ¥k PEP 75 HKJL 20 20 4k —  LB60 LB6O 1 3 1 14
15| 0000176 .tk B3 PEP 75 HKJL 20 20 sk —  1B60 ik LB6O 1 4 1 1 28
16 | 0000175 W.bkie B3 PEP 75 HKJL 20 13 sk —  1B60 Hub LB6O 1 4 1 1 28
17| 0061509 Zikskig ¥k PEP 75 HKJL 20 20 4k —  LB60 LB6O 1 3 1 1.1
18| 0062489 Zibski ¥k PEP 75 HKJL 20 20 4k —  LB60 LB6O 1 3 1 1.1
19| 0000173 W.bkie B3 PEP 75 HKJL 20 13 sk —  1B60 ik LB6O 1 4 1 1 20
20| 0000172 X &f M&-X%H PEP 75 HKJL 30 13 ik — LB VPJ 1 2 1 1 2.7
21| 0024326 Zubskie B& %% PEP 50 KL 25 20 4uk  — LB6O0 VPJ 1 2 1 1.9
22| 0035246 Autski® By PEP 50 HF)L 20 13 fHuk  —  LB60 4k LB6O 1 4 1 1 29
23| 0000271 ubskie By PEP 50 HF)L 20 13 Huik  — LB60 4k LB6O 1 4 1 1 22
24| 0062896 Zubskie ¥ PEP 50 #KJL 20 20 4uk  —  LB60 LB60 1 3 1 15
25| 0000270 Hubskie By PEP 50 HFJ)L 20 20 ik —  LB60 4rb  LB6O 1 4 1 1 24

it 7 1 10 1 6 83 2 2 1 1 23 1 7 8 47.9 1.9 2.1




HBKEMESUERME () TKAEA TRESEMEE(FEIR) EKEMRETE

HEih-YHE BE EHUH-VREXER)

| BRE o EId= AEE LIRS | R g R @REEE (me/m WEAME (m2/m) g | e BLT(m) wET BT WEUN Bk SRR (m2) SHEARBIE (m2/m) SR BELE

% = il M8 R-800 R-500 A ER A AT As As EFEl BHE HE  SHE  HEK HEEL HBEA HBEB HEHBEC (m2/m)  As [$5-50P K-50P L-50P  A-50P B-50P  C-50P  B&-50P-7( E-800 E-500 BT As nE EZC BHiE BHiE #iE HiEK Bl EBEA 2 H#EB HEC (m2) As

(m) (m) (m) #& (m) (m3/m) (m/m) &%  t=3cm t=3cm t=Hcm t=8cm _t=5cm t=10cm t=12cm t=16cm t=22cm (m3/m) -700 -700 -700 -700 -700 -700 -700 (m3) (m) (m3)  t=3cm  t=3cm  t=5cm  t=3cm _ t=becm _ t=10cm t=12cm _t=16cm _ t=22cm (m3)

1| 0021421 Aibskie 040 0.60 060 # FRYANED 0.6 0.6
2 | 0023695 Mitskid 040 0.60 060 # FYANED 0.6 0.6
3| 0023667 Mitskit 040 0.60 060 # FYANED 0.6 0.6
4 | 0020408  Aibkie 040 0.60 060 # FYANED 0.6 0.6
5| 0028769 uitskit 040 0.60 060 # FRYANED 0.6 0.6
6 | 0064053 Zitski¢ 040 0.60 Eid $%-50P-700|  0.36 20 1.0 05 05 0015 0.4 06 0.14 0.80  0.0008 0.20 0.20  0.006
7| 0000281 itskie 157 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 1.6 06 0.6 0.55 314 0.0053 0.79 079 0024
8 | 0062217 Zitski¢ 157 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 1.6 06 0.55 314 0.0053 0.79 079 0024
9 | 0000280 Fitskit 060 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.6 06 0.6 0.21 1.20  0.0020 0.30 0.30  0.009
10| 0054389  Zibskig  0.17 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.2 06 0.06 0.34  0.0006 0.09 0.09 0003
11| 0066364 Zibskig  0.17 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.2 06 0.06 0.34  0.0006 0.09 0.09 0003
12| 0000177 Aibskie 211 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 2.1 06 0.6 0.74 422 0.0072 1.06 1.06  0.032
13| 0000284 Mibskie  0.17 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.2 06 0.6 0.06 0.34  0.0006 0.09 0.09 0003
14| 0068977 Zibskig  0.17 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.2 06 0.06 0.34  0.0006 0.09 0.09 0003
15| 0000176 Aibskis  0.80 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.8 06 0.6 0.28 1.60  0.0027 0.40 040 0012
16| 0000175 Mibskie  0.80 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.8 06 0.6 0.28 1.60  0.0027 0.40 040 0012
17| 0061509  Zibskig 040 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.4 06 0.14 0.80 0.0014 0.20 0.20  0.006
18| 0062489 Zibskig 040 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.4 06 0.14 0.80 0.0014 0.20 0.20  0.006
19| 0000173 Aibskie  0.12 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.1 06 0.6 0.04 0.24  0.0004 0.06 0.06  0.002
20| 0000172  X&# 1.07 0.90 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 11 0.9 0.37 214 0.0036 0.54 054 0016
21| 0024326 Zitskie  1.08 0.70 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 11 07 0.38 216 0.0037 0.54 054 0016
22| 0035246 Fitskid 041 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.4 06 0.6 0.14 0.82 0.0014 0.21 021 0.006
23| 0000271 Fitskie 047 0.60 060 % K-50P-700 |  0.35 20 1.7 05 05 0015 0.5 06 0.6 0.16 0.94 0.0016 0.24 024  0.007
24| 0062896 Zitski 040 0.60 Eid K-50P-700 |  0.35 20 1.7 05 05 0015 0.4 06 0.14 0.80 0.0014 0.20 0.20  0.006
25| 0000270 itskid 054 0.60 0.60 4% K-50P-700| 035 20 1.7 05 05 0015 0.5 0.6 0.6 0.19 1.08  0.0018 0.27 0.27 _ 0.008

it 0.4 13.2 15.4 9.0 4.69 26.84 0.05 0.20 6.56 6.76 0.204




